HAH :2024.1.15 14:15
1H RA#IRMBZ 7 X
BRfEAE A B 20244201114 H (H)

{va 2N K4 7% b| A > |GROSS|HDCP | NET |crossis: e
1 Ak = 42 44)  86/19.0 [67.0 | 2
2 |HY fE 46 43| 89(20.0 (69.0 | 3
3 | EM s 47 44| 91]22.0 [69.0 | 5
4 A B HRE 47 45| 92]23.0 (69.0 | 6
5 |HE IEH] 46 47| 93]24.0 [69.0 | 8
6 | KA # 46 40| 86/16.0 [70.0 | 1
7 B ok 45 45| 90/19.0 |71.0 | 4
8 | BRI 45 49| 94/19.0 |75.0 | 10
9 |&t)RE &7 47 49| 96/20.0 |76.0 | 13
10 | Kl & 52 51| 103(27.0 |76.0 | 24
11 % #A 46 53| 99(23.0 |76.0 | 19
12 |IbA &4 50 44| 94/17.0 [77.0 | 9
13 |JiA F- 46 47| 93|16.0 |77.0 | 7
14 |JEK EE 49 49|  98/21.0 |77.0 | 18
15 M2 A 43 52| 95[18.0 |77.0 | 11
16 |HA #iw] 48 57| 105(28.0 |77.0 | 26
17 |l B2 40 55| 95[17.0 |78.0 | 12
18 |faH s 53 55| 108(29.0 [79.0 | 29
19 ¥k fil 50 470 97/17.0 [80.0 | 14
20 |HEAR 2 50 48|  98/18.0 [80.0 | 17
21 | f&— 51 50/ 101/21.0 |80.0 | 22
22 |7)Il $REk 54 56/ 110/30.0 (80.0 | 30
23 KO i 54 49| 103]22.0 [81.0 | 23
24 |iEK Ek 48 49| 97/16.0 [81.0 | 15
25 |HH i 51 47| 98/16.0 [82.0 | 16
26 |1 fdE 49 51| 100[17.0 |83.0 | 21
27 1R B 50 54| 104/21.0 [83.0 | 25
28 |HElRr =5 49 51| 100[16.0 [84.0 | 20
29 | A 49 57| 106(21.0 |85.0 | 27
30 [JkH B 55 52| 107/19.0 [88.0 | 28
31 |4 1ERH 56 56| 112[21.0 |91.0 | 31

LSRR 36 46|  82/29.0 |53.0 NR
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